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544 A = 7Y 2A Hof £3 EngoFS R 2N DolE HER ZE 58 Ha 58 HM2t & A= Z2o| Y
- (mm) (Nm) (rpmn) (kgm?) (Nm/rad) (mm) ) (mm) (g)
UCM15 2.2 2.7%x10°7 43 8
6 42000 0.15 1.5 +0.2
UCS15 1 2.0x 1077 25 7
UCM19 4.2 8.4x1077 88 14
8 33000 - 0.15 1.5 +0.2
ucs19 1.6 6.2x 1077 63 12

UCM25 8 3.0x10°6 170 28
12 25000 0.15 1.5 +0.2

UCS25 4.6 2.3x10°6 125 25

UCM30 12.6 6.9x 1076 220 45
15 21000 0.20 1.5 +0.3

UCs30 6.6 55x10°6 160 39

UCmM34 16 1.3x10°5 390 65
16 18000 0.20 1.5 +0.3

UCS34 " 1.0x107°5 350 62

UCM39 27 2.7%x107°5 520 98
20 16000 0.20 1.5 +0.3

ucs39 14 21 x10°5 440 85

UCM44 ‘ 22 36 14000 42x10°5 640 0.20 1.5 +0.3 136
UCM56 ‘ 28 70 11000 1.4x10°4 1500 0.20 1.5 +0.3 276
sl o = 7Y =g o) £3 E i b R 2N E?E HEE 2T Zast ATR Mg 518 2t &g = 2o =2
(mm) (Nm) (rpm) (kgm?) (Nm/rad) (N/mm) ) (mm) (kg)

UCM65 35 80 8000 ‘ 4.53 x 104 53900 392 ‘ 0.6 +0.3 0.7
uCm87 45 250 6000 ‘ 1.68 X 103 147000 343 ‘ 0.6 +0.5 1.6
4 Ao = 7Y 2A Hof £3 1 2@ 2 EZJE HEH ZE Sys ATy Yy 58 Hzt &8s 2o =
(mm) (Nm) (rpmn) (kgm?) (Nm/rad) (N/mm) ) (mm) (kg)
UCM150 60 1000 5900 14.07x 103 1500000 244 1 +0.4 6.43
UCM170 60 1300 5100 28.98x 103 2840000 224 1 +0.5 9.19
UCM220 70 4800 4000 112.34x 1073 5940000 448 1 +0.6 23.5
UCM260 90 6880 3400 248.75X 103 10780000 612 1 +0.7 35.3
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(Nm) (Nm)
UCM15 23
0.05, 0.1, 0.2 15 6.5 2.15 5 M1.6 | 35, 4%5, 545, 56 0.25
ucs15 18
0.05,0.1,0.2,05,1,2 UCM19 26 4%5, 4+8, 5+5, 56, 58, 68, 8+8
19 7.7 2.65 6.5 M2 0.5
0.05, 0.1, 0.2 ucs19 20 4x5, 5%5, 546, 58
UCM25 32
0.05,0.1,0.2,05, 1,2 25 9.5 3.25 9 M2.5 | 5%8, 5%10, 5+11, 5512, 6+8, 8+8, 8+10, 811, 8+12 1
UCs25 27
8+8, 8+10, 811, 8512, 8+14, 8x15, 10%12, 1112,
0.5,1,2,5 10 UCM30 20 y 36 B » 3 12212, 12414, 19215 s
0.5,1,2 UCS30 30 8+8, 8+10, 8+11, 8+12, 8+14, 8+15
ucms4 38 8%8, 8x10, 8x11, 8x12, 8x14, 8x15, 8x16, 10%12,
UCS34 3 = 35 4 1225 M3 11%12, 12512, 1214, 12%15 15
0.5,1,2,510 Uovas "
8+16, 818, 8x19, 8x20, 10%12, 1212, 12%14, 12+15,
U039 39 15.5 . 4.5 14.5 M4 12416, 12419, 12420 2.5
8+16, 818, 8x19, 8+20, 8+22, 12+12, 12«14, 12+16,
0.5,1,2,5,10, 20 UCM44 44 15 48 4.75 16 M4 12410, 15420, 16520, 18420, 19420, 20420, 20422 2.5
12%12, 12514, 1215, 12«16, 12+18, 1219, 12%20, 19%20,
5,10, 20,50 UCM56 56 19.5 60 5.5 20 M5 20420, 20422, 20424, 2025, 20428 7
HE= x50 £ &% /B2AHE h6 ¥ h7 YUch
W UCM65. 87
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(Nm) B1 B2 (Nm)
48 12%22
53 12%24
53 12%25
39 58 54 63 26.5 M5 X 25 12%28
58 12%30
63 12%32
63 12%35
5,10, 20, 50 UCM65 65 22 5.5 M5 X 22 6
48 20%22
53 2024
53 20%25
48 58 49.5 58.5 22 M5 X 22 20+28
58 20%30
63 20%32
63 20+35
53 62 20%25
53 62 20%25
62 24+25
62 66 24%30
62 25%25
62 25+28
66 25+30
66 25%32
62 68 25+35
78 25+38
100, 200 ucme? 87 78 67 77 30 30 7 M6 X 30 | M6 X 30 25%40 13.7
78 25%42
78 25%45
62 66 28+30
66 30%30
66 30%32
68 30%35
66 78 30+38
78 30%40
78 30%42
78 30%45
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He UTM]I(/':J;I;/IV:@%*% a4 A | oA Clu e s W s4 A= Bl == Baano e D1+D2
500 uomiso | 152 | 104 | 101 | 45 27 27 1 "o Ve M6 M6 |40%30, 40+32, 40+35, 40+38, 40+40
33 27 M8 M6 [40%42, 40+45, 40+48, 40+50
33 27 M8 M6 |40+55, 40+60
500, 1000 UcM170 | 178 | 118 | 124 | 55 27 33 14 M10 M10 M6 M8 [60+40
33 33 M8 M8 [60+42, 60+45, 60+48, 60+50, 60%55, 60+60
33 33 M8 M8 [60+65
1000, 2000 UCM220 | 225 | 144 | 200 | 90 33 39 20 M16 M16 M8 M10_ [70+50, 70+55, 70+60, 70%65
39 39 M10 M10_ |70%70
2000, 5000 ucM260 | 262 | 166 | 223 | 100 | 39 39 23 M20 M20 M10 M10  [70%75, 70+80, 90+80, 90+85, 90+90
HES X g2 FH x5 {2R= h9 YLt
o 8sh= UTMé]IX(U;TMV Unipulse Zf €3 Az A2 (mm)
UTMT /UTMV (), HEY g4 (Nm) =eTE
s[als]e|s10]11]12]14]15]16]18[19]20]22]24]25]28]30]32]35]38]40]42]45]48]50]55]60]65]70]75]80 85|90
UCM15 2.2 [ JE K 2K )
UTMI-0.05Nm UCs15 ! LAL AL AL
UTMI-0.1Nm s UCM19 42 o el @
UTMV-0.1Nm ucs19 1.6 [ I
UTMI-0.2Nm ucM25 8 o ejee
ucs2s 4.6 o e o e
3als|e|s10]11]12]14]15]16]18[19]20]22]24]25]28]30]32]35]38]40]42]45]48]50]55]60]65]70] 75|80 85 |90
uCM19 4.2 ojeloe
UCM25 8 0 0 0 00
UCs25 4.6 0 0 0 00
UTMI-0.5Nm UCM30 12.6 e 0 0 00
UJTMMV];?&NHW s UCS30 6.6 o 0o 000 0O
UTMV_1N$ UCM34 16 ® e 0 0 0 0o
UTMI-2Nm UCs34 11 e o 0 0 00
UCM39 27 ® e o o
UCS39 14 oo 0|0
UCM44 36 ® o 000
3als|e|810]11]12]14]15]16[18[19]20]22]24]25]28]30]32]35]38]40]42]45]48]50]55]60]65]70] 758085 |90
UCM30 12.6 oleojoe
UCM34 16 ® e o 00
UTMI-5Nm ucsa4 " oo 000
UTMV-5Nm 12 UCM39 27 [ ] e 0 00 o0
UTMI-10Nm UCS39 14 ) o e 0 o0 3K )
UTMV=10Nm UCMa4 36 ole| (o |o
UCM56 70 ® e o 0 0 00
UCM65 80 0|0|0|0|0O|0O|0O
3als|e|810]11]12]14]15]16[18[19]20]22]24]25]28]30]32]35]38]40]42]45]48]50]55]60]65]70] 758085 |90
UCM44 36 ® o/ejeo|e®
UTMI -20Nm 20 UCM56 70 o/ejeo0o0e
UCM65 80 0|0|0|0|0|0|0O
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‘ UTMI-50Nm ‘ 5 | Ucuse [ 70 eoojejo0e
UTMV-50Nm | ucwmes | 80 olo]olojolo]o
3als|e|s10]11]12]14]15]16]18]19]20]22]24]25]28]30]32]35]38]40]42]45]48]50]55]60]65]70] 758085 |90
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